Revision Exercises Periodic-Exam I MATH 101 Taibah University

1. Let U = {2,7,11,43,13,19,1}, A = {2,7,13,19}, B = {13,43,7,1,2}. Find (AN B)’,

A. {2,7,13} e LA
(B) {11,43,19,1} Eb LS .
o ameny  (pagd= (W, uzasty @

D. {1,11,43,13,19,1,7,2}

2. The degree of the polynomial (323 — 222 + 1)(2% — 3z +5) is ...

' K- 4
A = 3% - 9% 4157 x T bx T pxty X2 3x+5
i Sy xu
S5 = Fr=Wrhaytogxtgx4s  p25 B
3. The degree of the polynomial 2(zyz2)% + yz7 is ...

A}

:l>

N e T L
i Deos @®

For z # 0, simplify the expression —7z° + (—=7z)° + 2% — (3)~°

B.
C.
D.
4.
g(lf = —F( )+ L4 -%
@i =-6§
5. For  # 0 and y # 0, simplify (3zy~2)? (6:1;‘2;91‘3)‘2
A& -€ _
sar = 2=r»<3a._>_.<f’_§_..a=+><<7 2@
O 6"
D. %"
. . 12z - . _
6. Fmdthedomm.n of @1 o)@ =1 | | e )(—-ilﬁéf/lijx -t{
¥ (kB (X = | D - pil
Bhpy  GEOUEN=e paRiAn]
C. R\ {1,-1,-2} X4l =0 " . @ _
D. R\{l,-1,—v3,v3} X'z~-2 , X'=1 _

7. Evaluate 9 +2(80 — 9+ 9% 9?)

99 = 94-2(8e-2-2: g\) i
C. = 2(“4 :
\gjg = 94)(go~1.%\) = 2t 3;} @
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8. Let A= {8, -3.2, 54, V64, \/5, 5 12 0}. List all the elements of A that belong to the set

of ratlonal numbers

A. {3,-32, 4\/_ e
B. {—4, 64,3, %,0}

c. {5%,v3,%,0}

(’;}{-—37 4\/_,2,

9. Let A={3,-32,%,—
of natural numbers

A. {8,-33,—-4,V/64, 1
B. {—4,/64,v/3,%2,0}
C. {8a\/§’2)0}

(D) {v64, 2

10. Perform the indicated operations (—2z2% + 5z + 8)
A. 323 — 222 — 142 416 - 2)(2__‘_5,( “+R - XJ-}« ?x +2 +lﬁ( — l'Z'X

B. —52% — 22% — 14z + 16 2
C. 52% — 222 — 14z + 16 = 33X 72t 10 (O
(D) 32° - 22 + 10 | | ®>

11. Perform the indicated operations ((z — 2) — 3y)((z — 2) + 3y)

—4,+/64,/3,12,0}. List all the elements of A that belong to the set

— (23 — Tz — 2) +4z(2? — 3)

. z? — 9y 2 7
LI = et (3)

' - L
C. 22 -4z — 4 — 99? - X7-‘f" +4 "9:’

m2—4x+4—9y2

12, Write the rational expression in the lowest term

9—3:5.
mz_

B = (X-DRAD o 47
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2?+52 - 14 22+ 127+ 35

18. Perform the indicated operations i Y Ty Toras =
10 "
AFF = X4PET L (xeB) 048D

. Z*° (x+2) % '1’§ (x+\0)0<~+13 X
c ﬁﬁo = (x+% kx'*" a)(XM _(fj-—(i)-—— (Pf)
o X+2) = (xits) (Xf5)

p, 22,
z+1
14. Perform the indicated operations 22° — 322 _3&3 +12 |
| . L
A. 222 +3x+1—1—5 2x" +3X+! i1 C-}S —C§£>
1—53 K =3 ng r3>< E°1 S A X = |
‘- B — a
2 aQ 15 L
(::)2:1: +o:c+1+z—3 3)(), -?x._%fz/ LC ,)
D. 2% - 3 +1___15 &= 3% S 4y &~
-3
¥ 2

7?2 -3z4+5 .
—_— s

15. The remainder of the division
z+1

Ao X4 jzi‘tl e
o """%(7,;3: = @:i% @
& Fh 2w
16. The division of 2 + 322 + 3z + 7 by (z + 2) is equivalent to . :
' x 4322+ 32+T7=(z+2)(® +x+1)+5 )( +X*\ ?& t
X

B 2%+ 322+ 32 + 7 = (z + 2)(2? +x—l)+5 \.-—-‘—)(34“37‘1'4:"(‘\'?' -+ 7
C. 23+ 302 + 30+ 7= (2 +2)(2® +2 +1) — =33 Faxt
D. x3+3x2+3x+7=(x+2)(w2—x+l)+5 7--+ Mﬁ @ u

2 -3z +3a
—— s

17. Let a be a real number. The remainder of the division

% Ha3) =
A a? 92 MRS W
B -wy‘.gx +IA
4+ 2 = AN
ol — (@K +30

Scanned by CamScanner



' wv-- TTIoTm A e M avsVTAUACUIL L IVIALH 101 Taibah University

18. Let a > 0. The distance between 2a and —a is

Aa 0!(2“}1"‘*) :,{ 7_4..(-..4){:: /Baf =34

. 2a h
(Ci 3 O~
D. oa | \E.D
19. Dividing z% + 22% — 2 — 2 by z + 2 gives )(2.___( i :
A 2’ +1 X4 | X 3t =1 B
(B2 -1 X3 't (/E:i
C. z2-2 ‘ _
D.z?+2 - - IXEY
~ 20. Factor compléfely 75@4 — 147y | ‘2 \ e 0O
A 3G+ -T) 331(257 ~49)
B. 332(5y* — 7)? - . ) o
Crieyvtne-1 = 34(54-4 L5343 ) (O
D. 3y(5y® — 7)? _
21. Factor completely 22y — 10y + zy® — 10z
A (zy+10)(z-y) xl‘} 14)(6\’—,. E_OQ( ‘*Jj)
B. (zy+10)(z +v) - [ 0(){ J'\ﬁ)
(O (zy — 10)(z +) — ﬂB.L}(«k‘ﬂ - AT
D00 = Yo A -1e) @
22. Find the domain of e 2)1@2 ) . D - \Q (Q )
A. R\ {-1,-2} ld: (xln)(x?m) = o |
B. R\ {1,2} X%r=0 o XUl=o0o
CNR

5\ (11, -vzvE) X=EINR x = x4 R
2

, _ , -2 ,
23. The solution of the equation w—1 2rt1 18

A z=-1 — — N =\ :
A o=l 2(2x4\) = 201 % )
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§=¢ Ll-_; - X g @,)
. S=R 9.5, = b Con' fﬂdlfﬁkm [‘“Alﬁm

25. Give the soluti
on of following ¢
quation 212 =
L piay 2?42 =0

®x=_2&ndx—z Q—X’l:;:

vl
D:c--z'anda::l )("+ - /@“
5 T ( )
A6 Let @ > 2 be a rea] number. Give the solution of following equation z2+az+ (a—1) = 0
T=-landz=1+gq e
~ T=-landz=1-g X'HIX -{-.(a—\) o Xx—fﬁa? -.&a»- :
¢ | sl=a Lyz
D. o= —1andz= (Rdamt)e o) Y=o 5
-z landz=gq , >

27, Let b be a real number. Give the value of b such that the equation 222 + bz + 2 = 0

a.dr;nits exactly one_idouble) positive solution.

b=—4 a2XLy é))(qu =0 \Q;L’ l‘ . )\ZY\C* ula\ﬁ Vigﬂ‘
gg:i2 q-;;"L b - \o poiny I b':‘“’ 5‘)‘,\ ten 0
D.b=2 D= EQ‘-%(.%)(z)io b=tu (@ lo=-4 (P75

28. Let ¢ be a real number. Give the value of cs such that the equation 2244z + ¢ = 0 admits

exactly one (double) solution.
A c=—4 T >(7'+U<7L'EC - \'\ L\C‘:;\B
B.e=-2 d?\‘ \'Q R-\ Czc_ C:L\

C.c=2 D= bl-VNat = /6,... L((J)(_C) -~ o @

D.c=4

29. Simplify the following exponent 32030

= 2030 2
g.z'z A - ‘
30. Simplify the following exponent (—1)2018;1439 | ”3 2 -
A 2018 1439 1439 3 ' =359, »
1 - -t —q
B. -1 (-...|) ¢t = L = L=

—3 ; '

T

5
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1. Simplify the following term Y=02v=2 .. (V3v Nz _ LY {y
8 wEe e

DR——

Ai g ¥
: f ot —io_g. -— ._-4 tf“"\
7 {C,}

149
32. The quotient 1, in standard form a + b5 is ...

1 3 ‘ ‘
(A) 5+ 5 :L-{-?:L . | 4t P __):.l—::f_:(
B.—%'_gi "'L , '+L Z{J_/
1 3 | L 4"'2" + C D
C.-—=i - 7 3
2 7 (DF 1D
D. 5 +3i - — +3C
2.
33. The solution set of the following equation: (z +2)2=—41is |
-A{2zi\/_} ;g.\-‘)_ :t‘,,_g.
(B) {-2 23} X .
- 1
c. {2i+ 2} A . &
D. {2+ 2i} X =z 7 k2 Q
34. The solution set of the following quadratic equation: z%+ 100 = —20z is
A. {-10,10} X2420¥X {\00 =0 X oz =\O |~
B. {10 -
e heetets STV 6
D. {10} X x\ozo , XX AQ\,\L\QSA \ v -
35. Solve the following quadratic equation: (z + k)?+ 9 = 5.
Q.
A z=k+t2 ) K . ._9 s -
®)=-k+2 (% ) =5 A

Sropbse xaw=E 211
Xak=42\
’
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